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Wrie legibly
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Prart A (2Q x 6 M= |2 Marks)
With neccssary cireuil aied wavefs orm, show that the power consumed by pure
capacifive cirouit is zero
A 8 L2 non-reactive resistor is connectled in series witl a coil of induclance .05 H and
negligibie resistance. The combined cireuil is connccted to a 120V, 60 Mz supply.
Calculate:;
(a) The mmpedance of ihe eircuil:
(b) The current in the circuit;
(¢} Tite power factar of the eireuit;
{d) The active power absorbed by the circuit.

Fart B (1 Qx 8 M= 08 Marks)

A coil having a resistance of 20 () and an inductance of 0,15 11 is connected in series

with & 100 u¥ capacitor acrass 2 230 V, 50 H» supply.

2} Draw a phasor disgram showing the supply voliage and current and (e vollage
deross cach component,

) Find the phase angle between the vollage and current.

Part C (1 Qx 10 M= 10 Marks)

4. Calculate the RMS value and averape value of the curent waveforn shuwn below,
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Parc A

(2 Q% 6 M= 12 Marks)

1. Cenvert the below Thevenin's equivalent cireuit inlo Nevton®s cquivalent circuit and find the curvent

through foad resislance.
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2. Derive the equivalent capacitance “C”, if two capacitors C and C2 are connected (a) in series and

(k) in Paralle] 10 the voltage source V volls.

Purt 13

(1 Q= &M= U8 Marks)

I Drelermine (a)Average value (b} RMS valuce of the periodic current waveform shown in the lguse.
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Part C

(1 Q10 M= 10 Marks)

4. The resistances of the various arms of a byidpe are given in (he fipure shown. The baltery has an
can.l. of 2.0 V and a neghipible inlernal resistance. Determine the value and direction of ihe current

i 313, vsing Fhevenin's theorem.
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Engiruciions:

. Write legibly
3. Sciemific catoulators sre permitted

Part A (20 x 6 M= 12 Marks)
“.4 10 Calowlate the corrents in the network shown by Kirchiwfls laws
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2. Lxplain brieliy about p-in junction dicdes and its VI characteristics witl necessary diagrams,

o Parl 1 (1 Qx 8 M=108 Marks)

3. Tind the current through 5 olum resistor using Mesh Analysis.
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4. Cateubate (he current in 8 € vesistor using Node valtage method.,
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